!

ajs
o ™
L

L

[ ]

finding
\\fx;;h mining refers lightly 10

re ex ant information Or disc  a?
knowledge from a large volume of da
(A) Data (B) Resource h
(€) :Ilncome (D) None of these

0‘ e[’lﬂ-.

Who among the follow 'mU was a famous
Jain poet from Hary ana ? 4
(A) Pushpadant (B) Chaurangi Nat
(C) Nagarjuna (D) None of these

Market segmentation success criteria
consists of

(A) Measurability

(B) Accessibility

(C) Market Responsiveness

(D) All of these

Which city of Harvana has the highest

population as per Census 2011 and 2020
projection ?

(A) Gurgaon

(B) Ambala
(C) Panipat

(D) Faridab-

Centre for Marine Living Re-

sand
Ecology is located at

(A) Mangaluru, Karnataka
(B) Panaji. Goa

(C) Kochi. Kerala

(D) None of the above

The Consumer Disputes Redressal

District Forum's member shall have
Jurisdiction tenure of |

.
years with the age limit of 65 vears.

(A) Six (B) Four

{C) Three (D) Five

In Haryana existence of g0 groy
attests its name mwh.u;:h ofthe fnl iz

{lf\ ! lomng
{A) Ambala (Bi Kamaj
(C) Panipat (D) maam

172020 (36)

1. SH-§ T #1 Go & ¥ 10 FFE T
mmamﬂﬁm?ﬁmww
TR?

(A) STFe (B) WH o
(C) = (D) $H S F= 7

2. Trfafas i ¥ FH-91 SN T & 16
(A) qoIEq ® Swfag
(C) A (D) 378 F =08 T2

3. SR @I S%adl A A
ATaT 2|
(A) T
(B) T&=
(C) ISR Ulatar
(Dy3 T

4. ’Ullwm 2020 ST = ST
Thann = e wee i SEE et @ 2
(&) e (B) FaTen
(C) TS (D) i

5. FRISETEM iR wifefefidy
qfRmEe
(A) TR, FACE
(B) 9O, s
(C) =1, T
(D) 39U ° B T2 TE

'3._mwmﬁammnﬁmmmmzﬁ

' Wﬁmﬁﬁw:ﬁﬁm;aﬂﬁm

1 % T A 2
A . (B) TR
(© (D) 9f=

7. mﬁmmﬁq%?@an =

T S ST s 7

() SfaTem (B) F11&
(C) e (D) frae
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9.

10.

11.

12.

13.

14.

I'he language processor that translates
the complete source program as a whole
inone go into machine code 1s called
(Y Assembler

(1)) Interpreter

(\) Compiler

() Convertor

Characteristics of management
information system consist of

(\) Integrated system

(13) Common data flow

(C) Management directed

(D) All of these

If in a cortain code, GIVE is coded 7315
and BAT is coded as 924, How is GATE
coded ?
(\)Y 7215
() 2547

(B) 1452
(D) 5427

The process of splitting up of white’
into its constituent colors is knov

(B) Ref '
(D l"

(A) Refraction

(C) Dispersion <tion

Which is the science dealing with living
things and their environment v

(A) Economic Environment

(B) Social and Cultural Environment
(C) Ecology (Nature)

(D) Technology

Gurugram district of Haryana derived its
name from the name 0

~(B) Gurumayi

(D) Dronacharya

(A) Yogananda
() Muktananda

The Iii'béésﬁ_af depositing a layer of any

“desired metal on another material by

means of electricity is called as
(A) Electroplating {B) Electrocutting

(C) Electrifying (D) Electroplanting

.—3‘

1/2020 (36)

s g Sirker S it Tl W S

=

10.

12.

13.

14.

(O) EEEI'F-I?:'

= A U A i wiA e # JrgEed F
23d_ wwdsl ‘
(A) FHUTEEH (B) A

(C) Tl
gﬁmpgmwn?ﬂésawﬁﬁmﬁﬁ%

e fasT e § GIVE I 7315 3T BAT
g0 Rrar S 2 @ sd e H G.—;’I‘Eiﬁiaﬁg
ga - T

SR Em ?

(A) 7245 (B) 1452
(C) 2547 (D) 5427

w3 TeHTST 3 5% HEee it 6 feriier e

e el
(A) 39 (BY wradq
(D) fad

() feguda
S reqatt i 37k At & Hefud for
FH-AR ?

(A) e ararE

(B) HTReTe ST Giicen rarE

(¢) uiftfeufaeh (v5f)

(D) q&AIF

e fSe &A™ F AW T

g |
(B) TEHTE

(A) AT
(D) ZromEr

ﬁgﬁﬁ;wﬂﬁﬂaﬁmm’gﬁmﬂ‘{a’t
qard o e f wEm A FEa gl

pRESE @ FER

() ErRIETT
A

(C) FTAFTEE

Downloaded from www.cclchapter.cam...



v

5

5.

16.

17.

18.

19.

rof times

i watin indientes the numbe oy
Which ratio indicates | W by its

the earning per share 18 covert
market price ?

(A) Price Barning Ratio
(3) Gross Profit Ratio
((") Barnings Per Share

(1)) Net Profit Ratio

Which State lies to the South-West of

Haryana ?

(A) Gujaralt

(C) Rajasthan

Crocodile Breeding Centre is situated in
district of Haryana.

(B) Bhiwani

(D) Panchkula

(B) Punjab
(D) Uttar Pradesh

(A) Kurukshetra

(") Hisar
The attitudes and behaviour of the rural
consumers consists

(A) T'raditional occupation

(B) Family values

16.

17.

18.

(C) Festivals and Functions

(D) All of these

The contains a program that
runs when you first start the compute
(A) File Allocation Table (FAT)

(B) Root folder

(C) Boot sector

(D) Data area

The milk is heated to about 70°C for
15 to 30 seconds and then suddenly chilled
and stored. By doing so, it prevents the
growth of microbes. Identify this process
discovered by Louis Pasteur.

(A) Pasterification

(B) Pasteurization

(C) Pasteurity
(D) Pastcur therapy

Which warehouse is a repository (or
archive) of information gathered from
wide multiple sources, stored under a
unified scheme, at a single site ?
(B) Digital

(\) Model
(D) None of these

() Data

19,

o

20.

— 172020 (36)

i T e T ST AT

(A) Yo 3T ST
(13) Tehel e ST

(C) ufd IR ™

(D) fraer e g

- T efen  afeu-ufrEE A E
(A) TSI (B) T

(C) TSI (D) I T
TS e Sz et o e o v e

27
(A) Fe
(OREL

(B) ﬁqaﬁi
(D) TEFAI

%___ﬁﬁzmﬁama‘m%aﬁa;aam

& Y T SR FeE F Fd @ |

(A) BT5E STARYH 25t (TH T A)

(B) & Blcel

(C) e daeT

(D) Te1 T

I 70°C T 16 Y 30 Fehg T foR01 T @

{350 i ST e WA shid & 37 Ua hich

W@mﬁmﬁlwwm
TS 38 Wik I et

(A)

(B)

(C) TriE L
(D) TT=IL ot £

FH - FAEIIE T el TIH T T Thigd
S F St eI, 54 9 @l 4
A e A U AU () & 7

A) afssd (B) festedt

() T (D) 38 & FE A
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24.

26.

217.

28.

How many districts i
cts in Harvan:
colar parks at present ? vana have

(A) 21 (B) 19
(€) 18 (D) 20

Mr. P and Mr. Q are friends. What is
the probability that both have the same
birthday (ignoring a leap vear) ?

2 1
(A) 365 (B) 365
©) 1 (D) 0

Rural Marketing Strategies consists of
(A) Product

(B) Pricing

(C) Place (Distribution)

(D) All of these

Gurgaon district of Haryana was formed
in the year
(A) 1966
(C) 1995

(B) 1979
(D) 1913

In a certain code ‘JODHPUR' is wr’
as ‘RUJODHP and ‘LATUR'is wr
‘RULAT". How is ‘CANDIDAT™
in the code ?

(A) ETCANDIDA

(C) CANDIETAD

.as
_itten

(B) ETADIDNAC
(D) TECANDIDA

Oral communication consists of

(A) Face-to-face conversation

(B) Conversation over the telephone
(C) Radio broadcasts

(D) All of these

Three inscriptions of Ruler \"igrahar:alja--IV
18 mentioned in which Pillar ?

(A) Pillar of Pallava

(B) Pillar of Vijayanagara

(C) Pillar of Topra

(D) Pillar of Hoysala

22.

23.

24.

25.

27.

28.

1/2020 (36)

adam 7 st F e 5t 8 gan
T © 7
(A) 21 (B) 19
(C) 18 (D) 20
off P afi At Q fir 1 = T @ fF 2
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2 ok
(A) -BE (B) 365
©) 1 D) 0
efior femor et | i @
(A) 38
(B) o FEi
() T (ferazon)
WEEE
%f{ﬁm?ﬂgwmﬁm___aﬁﬁamw
A) 1966 B) 1979
(C) 1995 (D) 1913
s g #e H 'JODHPUR %1 ‘RUJODHP'

3t ‘LATUR 1 ‘RULAT foat st &
S e CANDIDATE FF R ¢
(A) ETCANDIDA  (B) ETABIDNAC
(C) CANDIETAD (D) TECANDIDA
Hifge dusor § ST 2l

(A) AEA-TEA AT

(B) FA®A T Frai™

(C) et wEm

(D) F Tl

s frree-1v 3 o frenere e @
qg?

(A) Tord TiH

(B) fasam w9

(C) 2 ¥=av

(D) TEe I
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29. The mirrors used by dentists to €€ large
images of the teeth of patients i8

(A) Convex (B) Concave
(C) Plane (D) Spherical

Which database model maintains records
(entities) in groups of tree structures

30.

called forests ?
(A) Hierarchical
(C) Network

(B) Relational
(D) None of these

31. When the system restarts or when reset

button is pressed, we call it as
booting.

(A) Freeze (B) Cold

(C) Warm (D) Hot

When solid NH Cl is added to NH ,OH
solution, the equilibrium

(A) Shifts to the left

(B) Shifts to the right

(C) Remains constant

(D) None of these

32.

33. In accounting, under which co- .a
record is made of only those trax.  .tions
or events which can be measured and
expressed in terms of money ?

(A) Cost concept

(B) Dual aspect concept

(C) Money measurement concept

(D) Accounting period concept

34. The selling price of 8 mangoes is equal
to the cost price of 12 mangoes. Find the
profit/loss percentage.

(A) 50% (B) 55%

(C) 40% (D) None of these

Phenols on distillation w1th zinc dust,
yield

(A) Benzene
©) -Qpiﬁol

35.

(B) Chloro benzene
(D) Resorcinol

9.

30.

31.

32.

33.

34.

Bt

1/2020 (36)
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(A) Frs (B) ®ice

(C) I (D) ®fe
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gt 8 o T
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(A) TTE GeheudT
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(C) & | Tl 2569
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8 3Tt =1 farga e 12 it 35 3 e
SR B | /@ sl 3w

(A) 50% (B) 55%

(C) 40% (D) 77 & 1S &l
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(A) S (B) AR F
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36.

37.

38.

39.

40.

41.

42.

Which statement de
Picting chan
position from one Period to ano?ﬁé??’dgh

(A) Funds Flow (B) Cash Flo
(C) Work Flow (D) None of t\l:ese

Haryana Govt. had set-up g “Centre of

Excellence for Vegetable”, in collaboration
with Israel at

(A) Gharaunda
(C) Jind

(B) Kaithal
(D) Sonipat

The Russian President who introduced
Economic and Political Reform called
“Perestroika”

(A) Brezhnev

(B) Mikhail Gorbachev

(C) Stalin

(D) Lenin

The First Annual General Meeting must
be held within months of
incorporation of the company.

(A) 15 (B) 12

(C) 18 (D) 16

The first battle of Panipat happens
the year

(A) 1532 (B) 152¢°

(C) 15636 (D) 15.

Japan's first Railway line was built
between

(A) Tokyo and Osaka

(B) Tokyo and Kyoto

(C) Tokyo and Fukuoka
(D) Tokyo and Yokohama

Which standards lay down uniform
accounting pohcxes and practices which are
to be followed by all business enterprises
in reapect;’i"ié‘ particular transactions or

(B) Accounting

36.

37.

38.

39.

40.

41.

(D) All of these_l'

42.

1/2020 (36)
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43.

44.

45.

46.

48.

49.

‘Purna Swaraj’ was set as Congress 1-’-”:“1
at the Lahore Congress Session held in

¢
(A) 1932 (B) 1929
(C) 1928 (D) 1930

Which Sufi Saint of Haryana established
Kalandaria order ?

(A) Fariduddin Shakarganji

(B) Sheikh-al-Islam

(C) Suleman Aujodhani

(D) Boo Ali Shah Kalandar

Which costing is a system under which
the cost of the product is determined
in advance on certain pre-determined
standards ?

(A) Marginal

(C) Standard

(B) Job
(D) Uniform

Whois an agent who does not have direct
physical possession of goods in which he
deals but he represents either the buye
or the seller in negotiating purchases
sales for his principals?

(A) Broker

(B) Commission agent

(C) Sole agency

(D) None of these

So far, times President rule
was imposed in Haryana.

(A) Two (B) Three

(C) Four (D) One

Which is paid form of non-personal
presentation and promotion of ideas, goods
or services by an identified sponsor ?

(A) Advertising

(B) Sales promotion

(C) Personal selling

(D) Publicity

Where is the Ancient Gumbad monument
situated in Haryana ?

(A) Bhiwani (B) Mewat

(C) Palwal (D) Kaithal

Downloaded from www.cclchapter.com
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46

47.

49.

I

1/2020 (3¢,

A3, e T e A e ey g
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V_—

50.

53.

54.

55.

l\‘\ZlND 2019 adoint, Military IS .
will be !leld between which of the e
countries ? ¢ following
A) India and Mangolia

(B) India and Canada

(C) India and Kazakhstan

(D) None of the above

Every company havin

. y company having a shar i

is required to file with thelife??!??nl-
a}n aémualfrletﬁ'n within ﬁ:\; :::f
the date of ho ing the A 0
ey nnual General
(A) 30 (B) 80

In the series 7.10, 8, 11,9, 12, ..
number should come next ?

A\ 7 (B) 12
(C) 10 (D) 13

In Haryana the spread and propagation of
Buddhism during Ashokan Administration
gets confirmed by the

(A) Stupa of Sanchi

(B) Kurukshetra Edict

(C) Topra Edict

(D) None of the above

. What

(Cyber crime consists of
(A) Hacking
(B) Cracking
(C) Security relate
(D) All of these

Who lead the 189
Haryana -

(A) Hassan Ali Khan

B) Risaldar Bisarat Khan

(@) Nawab Abdur Rahman

(M Raja Nahar Singh

Labour Party in

d crimes

7 revolt in Rohtak of

The lndependent
was founded by
(A) Dr. Satvapal
(B) \'allababhai Patel
(C) Jaw aharlal Nehru
(D) Dr. B. R. Ambedkar

50,

53.

54.

55.

9-
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-

x
2 B

AN,

o<
=

60,

61.

3 : : vom the
Phe deviation of the actual tron

standant = known as
W\ Positive (B Vanans

(M Neganve (M All of these

Which of the following state ments are

crue about Vikalp Scheme of Indian
Ratlways 7
4. This scheme will now provide
confirmed borths to wait listed
passengers o an alternate frain.
b, Under the Vikalp Scheme, the
boarding and the termnation
stagions might change to nearby
stations,
l‘lll} (M) s true
Both (a) and (b are true
Both @) and (M) are false
Only (a) s true

)

(B

W

)

Which among the following things ﬂmut

loeal bodies fivst happened in Haryana ?

) Formation of Panchayati Raj

() EV>Ms used for Panchayat eler

(M Fix educational qualificatic’ ¢
Panchayat members

O Women reservation v .chayat

U nder decision support system, which of

the following statement is correct ?

(A) Inabihity to support the solution of
complex problems

{R) Fasrt response to unexpected
situnations that result in changed
mputs

() It may be constructed to
unsupported one time deeisions

(DY None of the above

Which among the folld’@illxlg- districts
belong to Ambala ld:mmatmmel)wis,wn

9

in Harvana ’ I
{A) Panipat _(B_) Sonipat

{C) Kaithal

1 (D) Jind

5.

[ =]
o

N}

61.

-10-
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T

63.

64.

66.

Match No. !

'Wickets Score :.

[n 1964, salitici
P volutionize
electronic mr}uatr}- ahd staitad fh;‘?htil:-s

(A) Microprocessor
(B) Transistors

() Vacuum tubes

(D) Integrated circuits

Which is a sheet containing the balances
of all real and personal accounts 2

(A) Balance Sheet (B) Cost Sheet

(C) Income Sheet  ( D) None of these

This Gurudwara of Harvana was builtin
the memory of Guru Gobind Singh is
(A) Gurdwara Rajghat

(B) Gurdwara Panjokhra Sahib

(C) Topiyon Wala Gurudwara

(D) Gurdwara Patshahi

The wickets taken byabowlerin8 continuous
cricket matches are a3 follows.

5
;6|450

Find the mode of the above ¢

(A) 4 (B) 6
(C) 5 (D) 2
The environmental factors affecting rural 66.
marketing consists 0
(A) Rural Income
(B) Scattered Markets
(C) Literacy Level
(D) All of these
InHarvana, the total area Lmderwastelands }'4'/
is esnmated to be about of total
Geographical Area.
(A) 3.6% (B) 11% .
(C) 15% (D) 7%
Select the odd number. : 68.
(A) 8314 (B) 2709
(C) 1315 (D) 2518
4]

1/2020 (36)

qgaﬁﬁ?mq@ﬁ

(C) TNERET &R
(D) A T+t
fea 3, et o ¥ffH e e SEE
_ orgt@ el
(A) 3.6%

(C) 15%

e g 1 g
(A) 8314 (B) 3109

(C) 1315 (D) 2518
| Vo

(B) 11%
(D) ™%
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69,

72.

74.

75.

g ; ¥ % I speech
Che charictoristic of a good 81

itl('lllt!l‘s
<\ Clear
() Interesting

(3 Briet
(n All ol these

C.H, + CH 00 M, 7+ 0O

W) CH.CHO an ¢ eoctyy
(© C.H.CHO (i ¢aren=cho
In the following question, some of the
letters are missing, The missmg letters
are given in the proper sequence s one
of the alternatives given under question,
Find out the corrvect one.

_c_ca_ab_be_

(B) babea

(1) beabb

{\) abecac
() ceabb
In product life-cycle, under which stage
the produect is accepted by consumer and
the traders ?

(B) Growth

(1)) Saturarion

(A) Introduction
() Maruring

‘A History of British India’ was publ’
by

(A) Charles Dickens

(B) Bala Gangadhar Tils’

(C) Dadabhai Navaroji -

(D) James Mill

In scheduling each task is
given CPU time according to the priority
assigned to that task.

(A) Priority (B) Round Robin

(C) Buffering (D) Spooling

The objectives of data base management

system consists of

(A) It provide for mass storage of
relevant data

(B) It makes access to the data easy for
the user

(C) It makes the latest modifications to
the database available immediately
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(A) abeac
(Y ceabb

(I3 babea
(D) beabb
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75.

(D) All of these

-1

(B) ot TR foers
~(C) SreTHT AR
(D) v T
T W 1 1 Wi
o TR Fidiyg ww fean s )

(A) T (B) T3S Tfa=

(C) FERT (D) ¥gfam

2121 99 YA YTTE! 3 @edi § e
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(B) & S ¥ ST IAFS] T TG4
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(C) T& i IUTeH SIE H I B
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D) A wh
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Dhavue lnke voservoir of Harvana is ofte
\'.'l“t‘d HiS ‘ S
GO Chhamla reservow

(BY Ottu reservon

(Y Dhiwanw ala reservorwr

(M None of these

Ve Ram bought 40 books for Rs. 1,120 and
1% books for Rs. 608, The average price per
book s

¢\) Rs. 21
\l‘\ R‘- .:T

(B) Rs. 24
(M Rs. 30

= A market consists of all the pote atial
customers showme a pe articular need or
want who might be willing and able to
engage in exchange to satisfy the ne sod or

b

want”. This definition made by whom ?

(\) Philip Kotler
(B3 William J. Stanton
() American Marketing £ Association

(D) None of these

first Chiefd ustice of Pu-
High Court ?
Khosla

\Who was the
and Haryvana
(\) Justice Gops al Das

(B) Justice Ram Lal
() Justwee Sudhi Ranjan_
(D) Justwe Eric Weston

Which communication flows from a

superior to a subordinate ?
(B) Downward

(A Upw ard
(m Vertical

() Horizontal
Bahadurgarh tehsil is the part of
district of Haryana.

A\ d hapar (B) Kaithal

(O Kurukshetra (D) Ambala

The essential nf a contract of sale consists
of '

(A) Two p'lrues ~ (B) Goods

(C) Price (D) All of these
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86.

In the following question, oul of the given
group of words, choose the mis-spelt one.
(A Simmer

(1M Hammer

(Y Grommer

(D) Familiar

ldentifv the types/kinds of sentence in the
following sentences from the alternatives
given below them.

Be carveful,

(\) Declarative sentence

(3) Imperative sentence

(C) Interrogative sentence R

17202 (363

ot
g4, faefefiaa arei § #9-m Wi av s
(A e Tl areh ufeen 1 gensny
(B T B #1 3T e
() 6 U weed & S SR S 2
(D) ST & TS T
88. H TN WS THAY
e 2
(A) WFaTH
(R ST

(1)) lixclamatory sentence

Read the following sentence to fir”

whether there is any error i e
error, il any, will be in or A the
sentence. Mark of that «th error

as your answer.

Before the alarm had stopped/ringing/

(A) B)
Nisha had telephoned/the Police.
©) (D)

[Fill in the blank in the following sentence
with suitable Modal Auxiliaries.
[ doit, whatever happens.

(A\) can '

(B) will

(C) shall
(D) may

(D) $78 A 1S 7

89. T4 T WGV ‘Gl WHieHs S e

aqramd 3 fem 7

(A) TfTEaUs SN
(B) 3= fawa
(C)

(D)

AR ?

(A) Hfire Uy
(B) ™H g1q
(C) 71 H1g

(D) 78 & i 7L
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